
Exponential Review Sheet Answers 

 

1.  100 = 10 + (175 − 10)𝑒𝑘∗(90) → 𝑘 = −0.00673, 𝑠𝑜  

32 = 10 + (175 − 10)𝑒−0.00673𝑡 → 𝒕 = 𝟐𝟗𝟗. 𝟏𝟕𝟔 𝒎𝒊𝒏𝒖𝒕𝒆𝒔.  

175 = 10 + (200 − 10)𝑒−0.00673𝑡 → 𝒕 = 𝟐𝟎. 𝟗𝟒𝟖 𝒎𝒊𝒏𝒖𝒕𝒆𝒔. 

 

2.  1,000 = 10𝑒0.012𝑡 → 𝒕 =383.764 units 

 

3.  P(t)= 750(1 +
0.042

12
)12∗10 → P(10)= $1140.63 

 

4.  
1

2
= (1 − 0.0098)𝑡 → 𝒕 =70.38 months 

 

5.  Rate: 924 = 342𝑒𝑘∗6 →  k = 16.57%    

     Equation:  𝑊𝑒 𝑛𝑒𝑒𝑑 𝑡𝑜 𝑓𝑖𝑛𝑑 𝑃 𝑓𝑖𝑟𝑠𝑡 …  924 =  P𝑒0.1657∗10 → 𝑃 =

     176.304, 𝑠𝑜 𝑡ℎ𝑒 𝑒𝑞𝑢𝑎𝑡𝑖𝑜𝑛 𝑖𝑠 𝒚 = 𝟏𝟕𝟔. 𝟑𝒆𝟎.𝟏𝟔𝟓𝟕𝒕 

     Tripling time: 3 = 𝑒0.1657𝑡 → 𝒕 =6.6 hours 

 

6.   a.  P=250 

 b.  Decrease to zero 

 

7.  50,000 = P(1 +
0.0235

12
)12∗18, so P= $32767.48 

     50,000 = 32767.48𝑒0.025𝑡 →  𝒕 =14.1 years 

 

8.  60 = 104(1 − 0.036)𝑡 → 𝒕 = 15.00 minutes 

 

9.  P(7) = 400𝑒0.034∗7 → 𝑷(𝟕) =$507.48 

 

10.  
1

2
= (1 − 0.076)𝑡 → 𝒕 = 8.769 days 


